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For instance N2X 92 XD — RaR 92 XpD l'm:

Overview

The rule is 11 22 qwond "1 P11 n¥pna *nwdn. The Rn) is searching for
[alternate] examples of this ruling. X5 27 suggested the Xn>72 concerning
five people who were sitting on a bench and then another person came and
broke it, the ruling is that the last one is obligated to pay (the entire damage).
Seemingly this is case of P11 n¥pna *nw>s; the last person did not do the
entire damage (he was assisted by the former five) and nevertheless he is
liable for the entire damage, since he was the final cause. In citing this Xn>>72
(as an example) the X713 also cited the interpretation of X955 17 of this Xn»73;
that the last person was very heavy like Xax 72 &95. It is not clear why the
last person needs to be like X2X 72 X912, It would seem to make no difference
what type of person he is; the ruling should be the same. If he is the final
cause he should be 211 regardless if he is heavy or not! m»on will offer two
interpretations.

— NAN 92 N9 VPIT NN 12 HNNIY 1929 Y9919

The 2''2w1 explains that the reason X595 27 mentions ?RaR 72 RED specifically
is -

— P9 WY PIINN NN U7 HINY NID DTN 232 ONOHY 2aY

Because as far as ordinary people are concerned this bench is on loan to

anyone who wishes to sit on it -
— NANYN HNRNN NN M TaY NYY HDIY ONY 5

For ordinarily a bench is made for this purpose of sitting on it. A person
who owns a bench (generally) allows people to sit on it (he [implicitly] lends
it to them, and they borrow it for this specific use of sitting on it). And
therefore if the bench breaks while (and because) the people are sitting on it,
it is considered as if it died on account of the work. The rule by a borrower is
if the item broke (or the borrowed animal died) on account of the work for which it was
lent, the borrower is 7vd. Similarly here the people are borrowing his bench (with the
owner’s implicit permission) for the usage of sitting on it. If it breaks on account of their
sitting they are 7w». This is true for regular people who have implicit permission to sit on

the bench.
— 19 DINY PR NNND DN 232 INYN 129 NHWYN NINY NAN 92 N9 DAN

However X2X 92 Xo2 who was unusual, and heavier than the rest of the

people, presumably it was not lent to him; the owner does not want people like
NIX 72 X99 to sit on the bench. XaX 72 X595 has no right to use the bench, therefore he is
2m. If 2R 72 %95 would have the right to use the bench, then why is there a 21 at all to

" This Mmoo is referring to the X3 on 2 Tmy.
% See ‘Overview’.
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pay for the bench; it was 7o82» nnnn ann?! It is now understood why X995 27 said that the
last person was XaX 92 X995 7130, for only in such a case is the last person 21. This
concludes the a"awn w17,

MmosoIN comments:

— NP 1NDIAN NAN 92 N 1119 99D 298 W)
And according to the explanation of the 0"2w", it is necessary to assume
that the phrase ‘for instance XaR 92 K22’ is referring to all the people who

were (previously) sitting on the bench’; not only to the last person who sat down and
broke the bench.

moon will prove this last point:

— 1929571 NN 1925 NN NN INY N ID 99NRT 79902 MNP
Since the X713 shortly states; that they (the original five) will say to him
(the sixth) if not for you we would have sat for a short while and would
have stood up’ (and the bench would not be broken) -

— 122N 1PN 92Y) NN ONT yNIYN

Indicating that if it was broken (when only the original five were sitting
on it) they (the five) would be liable.* This proves that the five were like 92 X9
XX, for if they are regular people, why should they be 211 if the bench broke while they
were sitting on it?! According to the 0"2wn they are considered borrowers, and a
borrower is MW if it was 19821 nann nn. Therefore we must assume they were all the
size of XaX 72 X99, and the bench was not lent to them by the owner, therefore if they
broke it they would be liable. That is why they say to the sixth person, we were about to
stand up to prevent the bench from being broken, when you sat down and broke it.

It would seem now" that all six people were like Xax 72 899 and would be liable for the
broken bench, since none had permission to sit on it, and it was their combined weight
that broke the bench.
— 1YY TADPT TNAT 2IVNT NIPOND 29Y 111919
However according to the conclusion of the X723 that the X713 answered
that it broke while he was leaning on them -
— 7252 PINN NN 29907 WI9Y 7298 PN
It is not necessary to assume that all six are liable (as originally assumed)
but rather only the last one is 21.°
—¥M9AWY NINYN YV NN HDOD Y 1AWV DTN 932 NYAIN 0D 73 PION)

? The simple reading of the X3 would indicate that only the last (sixth) person was heavy like Xax 12 x99,
but not the original five; however according to the 0"2w" it must be referring to all the (six) people.

* See “Thinking it over # 1.

> The x1»3 states that the sixth one can say to the five ‘if you were not sitting with me it would not be
broken’.

% See X"wrn who explains that according to the X1p0n of the X3 it is not necessary to assume that the
XN™72 is discussing a case where the original five were like Xax 72 X995 (which is very unusual); but rather
we can assume that only the last person who broke the bench was like XaX 72 &95. Therefore only he is 27r.
The others are not 21, since they have (implicit) permission to sit on the bench. See ‘Thinking it over’ # 2.
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And on account of this interpretation of the xn»13,” the 0"wA exempted

from payment, four people who sat on a widow’s bench and broke it. They
were regular sized people, who (according to the 0"2w") have implicit permission to sit
on her bench, and the breaking is considered 72X%n ninn 1nn, for which a HXw is Mwo.

mooIn cites a dissenting opinion:
— 0HYY 2N HNITY %39 29D

However X1y '3 obligated them to pay for the broken bench.®

mooin offers an alternate interpretation:
— 91979999 IN2T NIPUNA 9INPT DIYN NIN 92 N9 UPIT VW9 DN 12

And the n"9 explains that X955 27 mentioned RXaX 92 822 because in the
conclusion of this discussion the X 1) states ‘that his force is like his

body’. The reason the last person is 211 is because he leaned on them and forced them
to remain seated, thereby breaking the bench. This ruling is applicable -
— TIYY 1PN 1725 I 125 DTN NINY NAN 93 NOO NPT

Only if he was like 82X 92 Xp® who was a heavy person and account of

his heaviness he prevented them from getting up -
— YD 29¥1 1NINID PN 79 DI 197925 PRY DTN 22 INY DaN

However all other people who are not so heavy and their leaning does

not prevent those that are seated from rising -
— 19250 12199 ¥1IY XDV 1YV 133 1NN

They too are negligent for they did not stand up, and in that case all will
be liable.

mooIn anticipates a difficulty and resolves it:
$NDD I NYPNY NI NINY NI 1NNY XIS 297 991D 7298 N 29D

And according to this interpretation’ of the '°n"9, it is necessary to say
that 822 29 himself came to answer his question'’ of 'x2% 10"

" The 0"2w" maintains that only Xax 12 x99 will be 211 for breaking the bench; however regular people
(whom we assume have implicit permission to use the bench) will not be 27r.

¥ It would seem that X1y "1 maintains that there is no implicit permission to sit on a private bench.
Anyone who does so is at risk to pay if he breaks it. It is not clear, however, according to ?X*71¥ '1 why the
X3 mentioned XX 12 899 1130, The ruling would seemingly apply to anyone who broke the bench. We will
have to assume that ?X°71¥ "1 agrees with the forthcoming interpretation of the n". See 0", Alternately,
¥"7 may also agree that the owner allows them to sit on it; nevertheless only to the extent that they are not
considered 0°1773 for using his bench, however if they break it they are 2°11. Only a ny72 2R is Mo by 10~
nOR?n nann. See n'RK.

? See the following two footnotes # 11 & 12 concerning the difficulty with n"3 w15, According to the
a"aw", however it is understood why the & 13 cited immediately the statement of X955 17 that we are
discussing Xax 72 x99, for otherwise they would be 7105 for breaking the bench.

19 %05 21 states XK 12 X95 1133 in order to explain that if he leaned on them only the last one is 2.

"' When we establish the X012 in a case where he leans on them, then this Xn>12 is not an example of

P11 n¥pPna *nwan for the last person did all the damage. It is necessary to assume that when X955 17 cited
this Xn°12 as an example of P71 N¥pPna "W, we were not discussing a case where he leaned on them, but
rather a case where he sat next to them. This is an example of 711 n¥pna *nwaa. However, in this latter
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Summary
According to the 0"2w" the XM mentions XAX 72 XD 7D to explain why

they are 2°m; for if regular people break a bench while sitting on it they are
9 since it is considered 787 nank ann. 9XY " and the n" disagree
with this ruling and maintain that 8aX 72 X599 is mentioned to explain that the
others are 7105 when he leaned on them, since they could not stand up.

Thinking it over

1. mpoIn proves that they were all like XaX 72 X995 from the fact that they
claimed ‘that we would have shortly stood up’"”. Maybe they were saying
this only in order to make the last one 9%1: however they themselves would
be b regardless, since it is 79821 N nn! How is this proof?!"”

2. mpoin states (according to the 2"2aw") that according to the X107 it is only
necessary to assume that the last one is '°2»n. Seemingly this is obvious the
Xn»72 clearly states 21 1R What 1s mdoin teaching us?!

3. According to the 0"aw" why is it necessary in the X1p0n to assume that the
last one was like X"29; seemingly if he did not let the others rise he is 2,
regardless if he is like X"25 or not?!"’

case there is no need (according to the n"9) to assume that the last person was like &2X 72 X55. [The n"2
states clearly that Xax 172 &95 was needed (only) for the X1p0n.] It seems strange, therefore, that the X n3
cites the statement of X959 27 (that the last person was like X2X 72 X99) as soon as we cite the Xn»72 as an
example for P11 NXpPna *nwon, when in fact in that case he need not be like &2X 72 ®99! This is what is
difficult on the n"9 w17'0. See following footnote for NN resolution to this question.

"2 The X3 should be read as follows: x99 27 asked X2°2 1M and cited the Xn™92 as an example of N Ww>7
711 N¥PnA (assuming as the X7 will later explain that he sat next to them). Then X955 27 himself
immediately refuted this example by stating that the Xn»72 is discussing XaX 72 X995 leaning on them and so
it is not P11 NXpr2 "N w>in. However all this was stated very subtly; the X713 then goes on to elaborate and
explain why initially X595 27 thought the Xn*"2 is a good example (for we are discussing a normal sixth
person sitting; not X2X 72 X599 leaning) and how eventually X595 27 explained that the ¥n»72 is not an
example since we are discussing X2X 72 99 leaning on them.

1 See footnote # 4.

e they would have remained seated and the bench would have been broken (even) without the last
person, then why should the last one be 2>1; it would have been broken anyway?!

" See (711 71"72 '2 XpO*D) "MK,

'® See footnote # 6.

"7 See n"na.
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